OEme--- i3 NFIEEERTPES
AR T, AREESAERR

s
S
o

)

FNHILMIAE

. AL
L RN (2) IS N4 2% NH AN E G it K

A¥(A)

21
18
15
12
9
6
3
0

18
15 15
12

T
HE  Hx M4

)
1]

EYa~ 3
()Gl gt Em () A,
é%%%b\)ﬁ%kﬁ%%ﬁﬂ VGBI ) AN,
@ 2m( VERC ) KR,
W BEAL TN L (A
0. R AL TS 2014 4F A2 =5 e v

FE ()

gg 30
ot 24
20 15 20 | 1 [18
15 — — 1 1
10 — — 1 1

5 5 — — 1 1

0

3 4 5 6 AW

(1) G - AEhefoe ().
@ ) ABI R () AR R
(93 PR LA )5 R AGEEC )
1T

() TR R ()

(5) L4 P IR A B ()i

= AN, GEROE 7 BE <X X))

L A RSB MR E . ()

2. YRR L ESR M RA NG R, £ — 5D — HEH R,
()

3 A EG I I RS FR SR ()

A BIPRAIBGE BN, IO IR, AR, ()

5. G ARSI AR R . ()

=L fEERA R,

1. N TH A2 SRR 1 T 5 R I I 3
filfita 15 T35 “ER 25 T7 [ 30 T
F 16w W20 T% % h8Tim

BES s, T, ER, SRR ,
AN ST, HEREESHRER




OSME---SENHEHERSHS  Dage
T, BRI ES R

A 10 T ffE 10 T3 AL 12 TR

26 T3 A 13 Tw SER22 T

B9 T FET T (8 10 T

(1) 2630 T A b 2 SR 7 2R B T, I R S 1 1R, 35 Rl 285 1)

R AR | R | B | KR
i (T
)

e e N R SN IAEY R
RE (F2)

80
70
60
50
40
30
20
10

LGS

A% 8% AR AR

@) Hhh BRI A{ER () T

@) RXRWHRIERT, ZZEC )REM A0 )T,
(4) X R a0 ) .

2. 480 (1) PR 22 A Fe bk Fr g AL DL 3R

ful |m—m| T s wua | sEe

H
ﬁii)ﬂ: 25729 130734|35739| 40744 | 45749
NE
() 4 18 10 5 3

(D) /NI EE 32 T8, thdmEsR () 4.
@) /DNIESR YA, e EAE () Frs () Tz,
(3) MR¥E& A, Se il R L geit A

AH(A)
20

18
16
14
12
10

8

SN O

rRE
25~29 30~34 35~39 40~44 45~49 (Fx)

R 1O, DREESREAE



Bl EI

2 *?#f

OEme--- i3 NFIEEERTPES
AR T, AREESAERR

3. N2 2014 Frp [E FE it AT “H—" HATE A @ T BN
HEATHMFE R f5 45 B ) B0, DR a1 0] 25 1) A

/XEEI i | oK | e
N
(0 500 750 | 1450 | 99
(D) MRAERFFrRAENE R, B gt e H e,
A¥ (A)
1500
1250
1000
750
500
250
0 il

& kKt AE IR

(2) Pk £ sl TR NS 2 M i b 2 20 A2
(3) Mgtit B, FRAESRAFIRLEE(E B 2iE RS %%

4. REMA/ MK 87K 1, Y2 A A2 W S g i B 5 BiE
1o RTRIRIE SR ALA S AR AT AR ISR, AR R geit BRb e e

(1) A ek NEe a8 N

(2) &N TS NEUH 2 15382 8 N
(3) RIF NHLILILF > 6 Ao

18

16
14
12
10

HEE

#®wH BREF A# FEREL

ONR O

ERES n, o, ER KT
% ST, BNKEESMRER




QSR SENFEHERSES  hit
ST, AEREESRERR

NI ESHEE R
—s L (D3 @E%E 18 Bk 9 Q)FF #HE @3
2. (D5 4 1 (34 7 @57 (519
.1V 2.X X 3. V4. XX 5.4
=. 1. (1)55 47 75 35 ZiitEm
(2)10 E=k 75 (4)212
2. (D= (240 44 (3)mg
3. (DEE  (2)1450-99=1351 (N) (3)H%
4. SPENE:2X20=40 (N)
T NH: (40-8) +2=16 (\)
R IF A% :16-6=10 (N)
Kekk NH:40- (16+10+2) =12 ()
B3]






